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QUESTION 1

A solution developer is investigating a problem where a message flow does not run to completion. The message flow
includes an aggregation block. The solution developer determines that messages are accumulating at the
AggregateReply node. In order to resolve the problem, the solution developer needs to: 

A. wire the AggregateReply Timeout terminal. 

B. change the AggregateControl Timeout property to a nonzero positive value. 

C. change the AggregateReply Unknown message timeout property to a nonzero positive value. 

D. set the AggregateControl Timeout location property to specify where incomplete messages should be sent. 

Correct Answer: B 

 

QUESTION 2

To create a message definition, a solution developer has performed the following steps: 1.Create a new message set
2.Create a new message definition file 3.Add a Tagged/Delimited String (TDS) physical format to the message set
4.Import a COBOL copybook 5.Add a Custom Wire Formats (CWF) physical format to the message set 6.Import a C
header file Which of the following is true? 

A. The message definition file created in step 2 contains no logical definitions. 

B. The message definition file created in step 2 does not support any physical formats. 

C. The length of the fields on the TDS format in the C message definition are not set. 

D. The length of the fields on the CWF format in the COBOL message definition are not set. 

Correct Answer: A 

 

QUESTION 3

A solution developer codes a JavaCompute node using a getJDBCType4Connection API call to connect to a JDBC
database that is globally coordinated, and then writes code to insert new records into that database based on the
contents of incoming MQ messages. The solution developer observes that database inserts are not rolled back if the
message flow experiences an error after this Compute node. What must the solution developer do to correct this? 

A. Alter the code to use MbSQLStatement 

B. Insert code to issue statements to rollback 

C. Alter the Transaction Mode of the JavaCompute node to commit 

D. Alter the type4DatasourceClassName property of the JDBCProvider 

Correct Answer: D 

 

000-272 Practice Test | 000-272 Study Guide | 000-272 Exam Questions                                2 / 4

https://www.geekcert.com/000-272.html
https://www.geekcert.com/000-272.html
https://www.geekcert.com/000-272.html


https://www.geekcert.com/000-272.html
2021 Latest geekcert 000-272 PDF and VCE dumps Download

QUESTION 4

A customer recently implemented a new standard that all deployable objects must display Version, Author, and Defect
number in the QuickView panel of Message Broker Explorer. How must the solution developer code this requirement? 

A. andMQSI_Version=v1.0 MQSIand andMQSI Author=George MQSIand andMQSI Defect=123456 MQSIand 

B. %MQSI_Version=v1.0 MQSI% %MQSI Author=George MQSI% %MQSI Defect=123456 MQSI% 

C. $MQSI_Version=v1.0 MQSI$ $MQSI Author=George MQSI$ $MQSI Defect=123456 MQSI$ 

D. andWMB_Version=v1.0 WMBand andWMB Author=George WMBand andWMB Defect=123456 WMBand 

Correct Answer: C 

 

QUESTION 5

A bank uses Process Server to implement a supervisor based, credit line approval process. Once initiated, the process
does not return a response. This Process Server workflow needs to be started every time the Message Broker receives
a new credit increase transaction. To implement this requirement, a solution developer can design a message flow that
uses: 

A. Publication Node 

B. SCARequest Node 

C. a combination of SOAPAsyncRequest and SOAPAsyncResponse 

D. JavaCompute Node to invoke the process flow JAR files that are generated 

Correct Answer: B 
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